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AIM: How do we determine max/min values?
Warm Up:

1) Find 2 positive numbers whose sum is 40 and whose product is 175.
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ample 1) Two numbers add up to 40. Find the numb,

Smaller Number 1317 1 120
Larger Number TI1RT 21 2o
Product BIBR51 700
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1. A farmer has 600 m of fencing with which he plans to enclose a rectangular pen
adjacent to a long existing wall. He will use the wall for one side of the pen end
the available foncing for the three rempining sides. What is the maximum area
that he can enclose this way?
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